國立台灣海洋大學    河海工程學系2B    工程數學（一）    第八次小考解答
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1. Using Wronskian to find the particular solution,
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,積分可得
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,積分可得
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特解中包含了一個補解
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Initial conditions
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2. (a.) Revisit the above problem by using the method of undetermined coefficients.

               
[image: image21.wmf]2

()()sin()

ytytFt

w

+=W

&&

   (30%)

  (b.) To find the solution, if 
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(a.)
令
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代入ODE
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比較係數可得
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(b.) 
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General solution
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Initial conditions to determine 
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Total solution
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當
[image: image34.wmf]()

w

W=

&



[image: image35.wmf]2222

22

22

2

()limsin()sin()

()

lim(sin()sin())

()

lim(sin()sin())

()

1

lim(cos()sin())

2

cos()sin())

2

2

FF

yttt

F

tt

F

tt

F

ttt

FtF

tt

w

w

w

w

w

www

ww

w

w

w

w

w

w

w

ww

w

w

W®

W®

W®

W®

W

=W-

-W-W

W

=W-

-W

W

=W-

-W

=W-

-W

=-+



[image: image36.wmf]cos()

2

p

F

ytt

w

w

=-

…共振現象(resonance)
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